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SECTION -1 7 W -1
PEDAGOGY / fngmmm=
There are 30 questions n all in this Section. Al questions are compulsory.
@ d g sowE § | wft v afErd ¥

Authoritarian level teaching is

(%) teacher centred B chikl centred

IC) headmaster centred () experience based,
e =1 wamER =

1 TawE FEm B o Fiwa

C]  wuEremTE &R D) = afEm
Character 1a developed by

(&) will power Bl conduct and behaviour
[y  morality O} all of these.

=fz w1 forwre ¥ ¥ .

(4  TEETE (B WA TH =EER BRI
T IO .| o o W el

which of the following 1s nol a level of teaching-learmdng ?

(&)  Dafferentiation level (B Memory level

(€} Reflective level D]  Understanding level,
e # #a freo-afrm E wn W E 7

) A w [T

(o) e ™ D] HAFE =10

If & student 1s too shy to participate in class, you will
[A not ask guestions from Fim
(B}  ask only those guestlons from him whose answers can be glven by him

[C) mot ask those questions whose answers are beyond his means due to which he

may become an object of ridicule in the cass
ask questiona from him only when he is keen to answer those.

.uﬁqﬁﬁmﬂfmﬂ'méﬁ o Hwra woen & #/ A

) FHE A AR et
B T v T e § wea E, e s vt =

€)= e w5 T e ey a Tek wme § A ¥ frls s ww a f Ivem W e

o e &
O] TR 7 e T W T T S & fey w9
Teacher behaviour ought to be

A administrative (B] instructve
€} idealstic (D directive.
s =1 =t € =iiEa

(&)  HETHEES (B fmames

(C) At et
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6.  Girl's education should be given prigrity because
1A girls are more intelligent than boys
(B}  girle are leas in number than boys
Q) girle were badly discriminated against in the past
() only girls are capable of leading a social change,
=ifer fen st wE & 3fE €, sww
ty  ifEEnd =t & afes gt ¥
(B =ifernd ares | e
IC) wet o sfoamadl =1 9 e 4@ fadfa fra s @
(D) Tt wmfee wfieda & S F Seaw aifesd wed £

7. The success of integrated education depends on

(&) the support of community B excellence of textbooks
(C)  quality of teaching-leaming material [D) attitudinal change in teachers.
waf=m e w1t T fit o ¥
A wEE & e (B) WeTqEeRl %1 IrFEE W
() Foveror arfiprs @y =5t orE w D) Fogeni § sifvefoe oftwt w
8.  The best remedy for a student's problems related with leamning is
&) suggestion for hard work (B) supervised study in library
C}  suggestion for private tuitlon (D} diagnoestic teaching.
e A wefi fedt faenel <) aremat =1 a8 orem weaw &
W FER 9fam w1 o B e F fitfim stvaem
) Ff Taeor 1 g (D) FerwmE fago
4. A teacher can motivate students by
W  giving prizes- (B) giving proper guidance
([C)  giving examples (D) delivering speeches in class.
w faerh foenifefil =t amifon = wm &
(Al TR 3T B) W ArteyE et
(C) =F=ETm a5 (D) wen o wrow BT
10.  If a student does not pay respect to you, then you will .
(&)  ignore him (B)  award less marks in exam.
i) talk to his parents (D) rebuke him,
o wie T s T 8w & o s
() T T F (B) Wi § = aiw 3
(C)  FF afuvEST A = w0 o =& =
Il. Development of human values which are tniversal in nature means
A} - imdoctrination (B) adoption
IC)  imdtation (@ manifestation.
AT T vt § et § i e o o
(A TR, (B)  aiiRTm

<) g ) wivafe
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12. In erder 1o understand his students, a teacher should be well-versed in
(A)  child psychology
Bl  inclination towards understanding children
(C]  opinions of students towards the subject matter
() all of these.
mmﬁwﬁw#mwmﬂmmﬁm
(&) = wHfaEm = @ == F ' F ugfy
i) faa =g & wia Faenfli & oq D) FH A
13. In which of the following alagés. do children become active members of thelr peer

group ¥

4 Adolescence (Bl  Adulthoog
(C] Early childhood (M) Chile b,
ﬁﬁlﬂﬁﬁmmﬁaﬁmmﬂﬂ;mmmﬁi ?
() Tewiran (Bl ==
€] YIE AEEE D) ST |

14, Mind mapping refers to
A a technique to enhance comprehension
(Bl  a plan of swtion for an adventure
(€]  drawing the picture of a mind
i) rescarching the funcijoning of the mind.

v o Hed §
i s W AT w5 T A B) ifEm v w1 % fo #d e
(Ct = =1 faa di=n (D) [ % v & s
15, Which of the following is not considered as g sign of ‘being gifted’ 7
A Creatlvity in ideas (B]  Fighting with others
(C)  Novelty In expression (D) Curiosity.
T A m AR P A A Em
W fe=rT § germawm B) gl & =y mEa
) fv=afs & s D) FqEa |

1. A normal 12-yvear old child is most likely to
A have difficulty with gross motor coordination
B have anxiety feelings about Pleasing adults
() confine his/her tnterests 1o the here and now
{13} be eager for peer approval,
UF WA 1299 30 F T § wad wieE g gys
W F9 NE wram | whew
(B) =l =t g o & = F gfeem =t s
0 &= oin ol & woat sfal ) otfim =0
D) wowet ¥ s & fog 39 |
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17,

1B.

19,

200,

The reason why students run away from school Is

(4 lack of interest in class teaching

{B)  lack of interest in studies on the parl aof students

() not giving punishments to students

0} callous attitude of teachers towards the problem.

faeea @ Tl & A @ o

(&) F foen § v S ANE

B ferenfedi # e # w5 A9E

() feenfifdl =1 ooz = @

o) = % wie e i frdm st

In order to develep the spirit of labour in students

()  the teacher himself should indulge in labour

(Bl the teacher should deliver lectures on the importance of labour
(C) students should be given opportunities o do labour from time {0 lime
(D) students should be given examples of people who labour.
Tyttt & wm & S W fawE F=E # o

e o @A wgh Ramm

(@) T M ¥ Ted W AR S0

() TE-T i W A H A

(D) Farmfeiall =1 m 3 AE W I & 98 |

Child development is defined as a field of study that

{8} examines change in human abilities

{B]  seeks (o explain behaviour across lifespan

() compares children to adulls to senior CiLZeNS

(D) accounts for the gradual evolution of a childs cognitive. social and other

capacities.

=1 Faea i ofT AR g

(&) W wme § e e S

@ i ety & S SRR i sme ge

(C) T o au S A ¥ e e A

12 Ferell =1 1 TS, W A gat gl w1 wien fawm 6 e e o

Knowledge of child psychology is a must for a primary teacher, because
& it helps in making children disciplined

{B) the examination result is improved

(C] it becomes a conventent mode for motivating children

(D] it helps the teacher in understanding the behaviour of children.
el fes & f @8 IR 9189 A ¢, Fi

(&) TE w5 s T T

B whe % fom § 3 e

€ e as w A w0 e g wiE A

D) 7w % orEeR w awed  foes # e g




UPTET(Teacher Eligibility Test) Solved Question Paper [1- 2011

21.

22,

23,

24.

25.-

In order to modify the undesirable behaviour of a student the most effective method 15
%) to punish the student

(B} to bring it to the notice of the parents

C)  to find out the reasons for the undesirable behaviour and provide remedies

M} tolgnore il

famel & smifen sgaen <1 ffan vfied <0 § 599 el Tefn &

1) famd 5t 7oz 3=

B wfvves % wm § @

IC)  ifon =EER & RO F g3 TE TYER T WA Fe

D) = IUE W=

Some students send a greeting card o vou on Teacher's Day. What will you do ? You
will

{3)  do nothing {B) say thanks to them

()  ask them not to waste money (D} reciprocate the good wishes to them,
S e fomm W 5o faefeldl 3 o wuE T e & 1 s o w0 7 e

W T T w0 (B) = u=ER &1

i) =% i W i F Ffew A (o) 3 wER F gvened 2
When a student fails. it can be undersiood that

A the system has falled (B} the ieacher is a [ailure
iC) the textbooks are a fatlure (D} it is the individual's fallure,
& 7 ot smwa vw @ wwm o € T

w weh sEwe # B foew wawa &

(C)  TEATETH e § (D) 4% dafes Aawam & |
The most important trait of a student is

(4  sense of responsibility (B honesty

[T} “cooperation (DY obedience.

et feremedt =t T Tl foden &

VI e o e R I G i B) sErErt

(C) weviimm (D) - FrgrEE 0

You are teaching in class and a student asks a question unrelated to the topic. What
will you do 7

4 Allow him (o ask unrelated questions

(B] Notallow him to ask any unrelated questions

(C) Consider it as indiscipline and punish him

(D) Answer the questlon after class.

ary forelt s & w3 g ¥ oi wen ferandf forra @ srrEg vE v g R 1 e o 2
A TH FEEE T A W s 4 (B) 9 srevEg W Yo w1 SAfd TEl &
(C) ¥R W-wmlan T e =i (D) ~ EN % WE WE E I A |
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26,

27.

28.

29,

30.

At primary level, it is better to teach in mother tongue because
(4) it develops self-confidence in children

(Bl it makes learning easy

[C) it is helpful in intellectual development

(D) it helps children in learning in natural environment.
gfamEt '8 W s ¥ o 3 v ¥, il T

(2 ==l # aefrrEm W e

(B =fme F1 WE '

(o) g fam  wera wom

D) Wit waE o == ) whee § e w4
What is most important while writing on blackboard ?

W Good writing (B] Clarity in writing

(C)  Writing in big letters (D) Writing in small letters.
saraE W fa W was ey d ?

(PR L B) w&d ¥ e

) = el § fem (D) 22 weE | fowen

A student comes late in your class. You will

(&)  inform his parenis (B) punish him

(C) try to know the reason (D) nol pay any attention to him.
AT A o UF R LT E ww & o

() IwE sfawEeT 1 giea S B =

(C) T AFA W (D) 38 T HE s o
How should students be motivated in school ?

4y By selected study (B8] By incldental study

(C) By intensive study () Learning by recitation.
faemers W faenfefal =) &9 wfnife s sfaa g ?

(N I T AT B (B) WS seaE g

(C) TR EEE T (D) wee iy Bm o

The aim of education should be

() to develop vocational skills in the students
[B] to develop social awareness in the students
(C) to prepare the students for examination

(D) to prepare the students for practical life.
Fen =1 F¢yg v =feg

(a) Fornfeiai # =i g & R

(B) faerfedi & amfas SrTewT # fawE 0

(c) Toerfdat = oiia & forg 4R FT0

(D) s e ¥ e frenfde 1 e e
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31,

32,

23,

SECTION - I1
SPECIAL INSTRUCTION : There are questions on 3 languages in this Section.

Each language consists of 30 questions. The candidate has to answer the questions of
First Language Hindi compulsorily. Qut of the other two languages, the candidate has
o answer any one — either English or Urdu as Second Language, chosen by him /
her in the Application Form, Total number of Language questions to be answered by
the candidate is 60.

For First Language questions all answers are to be marked in the OMR Answer
Sheet starting from 31 to 60,

For Second Language questions all answers are to be marked in the OMR Answer
Sheet starting from 81 te 90,

farviw germ sﬁﬂmﬁ'amaﬁamﬁ,mmﬁsﬂmﬁ 1 3Gl F) gan wm e &
! 1 I A W e | e — st srmar e # A et v W T B
T T vt ST A & SR we d 3l F 9 % T 60 v FIm i

Werm uTeT & vyl i anerdf &) wt IV OMR T O & 31 % so 7w fafgm et |
fertrr saren &5 sl ¥ anvaedt & it 37 OMR I T F 61 #90 7 fafga s |

LB
wow e - fi= ( sifrard )
UM LS 30% ¥ | mitwe sl §
TR 1 afaare) s i
W o B

€ i D) TR
Frefiafan v w1 s oy

Ty

W e ® 7=
] i M) e
T Tt ¥ s o g

T T ¥ e e

&) ferdhror B w

€ wEm D) B
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34.

35.

36.

37F.

38.

39,

40,

Fr=fatam = o - % s s § 7

(. o == = wE e
(€ T ei-offy = T R

Tr=fafam ® drmes 7= 9f= -
(&) dren

(C)  guETEn

‘wreny | fe Wi W s § 2
(A = w®i

(C) < @t i

YHIR w1 e e g

(a) T

(cy T
Frefafas s= § a0t 9fm .
& sfa

(C) =,

T W IR [ Y T HET Ay

VR0 |

)

‘e R TateETet TS g
Ay PR

Cy  wf

(B)

()

(D)

(B]

(D)

(B)

)]

B)

()

(>

(B)

D)

e el el @
AT FH e S |

Tamt wimg

o] =T Tfsr |

Fag |

10 |
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41.

42.

43.

44,

45.

46.

47.

=il A v W =il w5 s
I A H HE waEy

() =l FEE

(C) HEHCTE HiTw

‘gsmEn vy e a7

(B)

()

()

(B)

(18)]

(B)

(D)

IB' -

(D)

(B

HLA

=H =

ANTET =S
s /=g

ToHE =

HEHL Wy |

fa=m

gt

q i

ol
hod |

EVRRS &
(€) = e

" s #

W e v

(C) Taeeit wree

fETE W fEEie e @

(A} - SETER

(€ s

Feafafaa w= #=1 3ot gf@ .

TeTEn

&) 58

(o

Freaferfiam =i % firdt T farsredl & oo T 1 o W
(A} o :
(€] =F=|

Fr=fafEn a8 2 ga w9 9@ .

(D)

&) AR dvrEad e e e T o
(B) EWH st A 1 faere w e o &
(C) Wit Hvraad we=n w1 fame €9 o o &
(D) FERT ATt w= w5 fawe O w T ®

11|
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45, fr=afafaa e o1 af-fa=0g o 5 ?

50.

&51.

o2,

23.

qEa
Al W] + S84 AB) v + 3=A
(€) Wi+ o (D) g+ FEA |
49, Tr=fEfas g=—bi 4 9 o 59 gAg, .
(A)  EHIL HEl 9o AEgEehl st TREn w1 AT=E Weed ¥
(B) =AL =E aFv A9gasi ®i Fan =1 == g=" ¥ )
() AR FET THgaEl w1 TEn w1 = W=y ¥
(D), TWE TRl AagEEl w1 faar w1 e e ¥
“wA W wEbEETE S wrer el § 39 g
(A) == (B) =4
(C)  =FIEr (o) Erem o
‘e’ - wE g7
@ =gt B &=
© & (D)  TEgEE |
‘gl w watmErdl v A€l @
(A) T |) Hm
([C) s ) gfEm
Frfefaa ¥ | F=-w vem ' HEa’ = sagareE e T g O?
@ T B)  IfE=
(c) waw (D) g9 |

12 |
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4.

25,

56.

57.

58.

59,

GO,

"TorEl T W wred Tl @1 ¥ fo ww e e

@ v afs (B)  wegeosmfa
(C)  ZErmE D) =eesif o
‘et @ wfu-faese @

Ly R+ o B\ e
) f1:+m @) B o
A AT YT W= w0 wmw wi

Ay (B) g
) g (D] o
T S e gon B, woad faw wk wem, W Tvgw @ ferfa
L B fa=

© s o) wde
FAH F AT Y= T YE =W g

A IEER (B} qI{=hid
(€©) TE=T ©  rem
Ffafas = =1 weom wom

s

W B =

© e o = o
-EgH T | g

I HEFT FI HF TR

) TR ST (B) =Y wrm
(C) s e (D) =T T |

13 |
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Gl,

62.

63.

&G4

65.

66.

SECTION - I
Second Language — ENGLISH
There are 30 questions in all in this Section.

All questions are compulsory.

Choose the sentence where the comma is placed correctly :

(4) Yes the play was, fun.

(B) Noldidn't, go backstage.

i) Well, the ending did surprise me.

(D} Mo Mohan, was the lead actor.

Choose the option which gives the correct abbreviation :

&l  Janu. 12, 1965 (B) Laxmi Paper Comp.
[} Satur., May 19 [D) North St

Choose the correct spelling :

(&)  calendar {B) celender

(C) calandar (D) calander.

Choose the correct spelling :

(4] preveledge (Bl previlege

(C}  privilege (D) priviledge.

What does the phrase ‘eream of the crop’ mean ?

(A putting cream in coffee B] the worst of a group.
{C) icing a cake (D) the best of a group.
The word pair — discrete and discreet — are called

(Al homonym (B8] homophone

IC}] synonym (D) antonym.

14 |
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67.

G68.

&9.

TO.

71

72,

Choose the noun form of the given word :

strong
(A}  strongly (Bl strongness
[C) strength (D) strengthen.

Choose the noun form of the given word :

grave
i) gravely (B) graveness
(C) gravel (I gravity.

A very brief pause in a sentence Is marked by using a/an

(Al  semicolon (B] comma

[C) apostrophe (D] period.

In the given sentence identify the gerund :

Jogging is a good exercise.

W Jogging B) is

C) good (D) exercise,
Idl.;,ntlfy the type of word that is underlined in the given sentence :
All the people cheered.

(&) noun (B] pronoun

() ‘adjective D)  wverb,

ldentify the type of word that {s underlined in the given sentence :
It's gheer r_ubblsh.

[A) noun (B} pronoun

<) edjective D) wverhb,

15 |
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73. Choose the singular form of the given word :

gulfs
(Al engulf (Bl  gulp
) gulf D) golf.

74. Choose the rorrect sentence ;
) Of water take this glass (B) Take glass of this water
IC)  Take this glass of water () Take this water of glass,
75. Choose the word that is spelt incorrectly :
W duleet (B convulse

{C)  principal ID) negetive.

76. Choose the word that is spelt correctly

(%  difine B) maime

() perfidy (D ingrace.
77. Thismovieis ........................ than the last one.

(Al best (Bl good

()  beiter (D] worst.

78. Ravi wasn't thinking .............cooeevvens
A} clear (B] unclear
[C)  clearly D} unclearly.

79.  Choose the part where there is an error in the given sentence :

[went to the library to get as many information as | could
7y B (c) (5]
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BO.

81,

B,

83,

B4,

Choose the sentence that is correct with respect to punctuation and capitalization :
(Al how glad we were to see Aunt Rekha 1

[B] She was visiting us for summer.

(C)  Had she missed us.

(D] we welcomed her into our home 7

Which statement is correct 7

Staternent I : We considered the matter farther.
Statement Il : We considered the matter further.

(A BothlandIl

(Bl Onlyl

(C)  Only i[

(D) Meither I nor IL.

What is the pasi participle of 'ride’” 7

A ride Bl rode
iC)  rides (D}  ridden.
What is the simple present of 'Erew’ 9

@& grow (B growth
[C)  grown (D) grows,
Choose the adverb from the following ;

(A walk (Bl badly

[ good M)  fast.

17 |
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85.

86.

87.

88.

89.

90.

Choose the adverb from the fﬂflﬂwlng :
(&)  hardly B

(C] harder ()

Identify the type of verb in the given sentence :

He slept.
(A)  transitive verb (B)
(C)  regular verb (i

Choose the superlative form of ‘fast’ :

(A fast (B)
[C) fastest (o)
If the superlative is least, then the positive is
(A)  least (B)
(C) litte ()
What is the comparative form of ‘bad” 7

(4) bad (B)

() belter (8)]

Fill in the blanlk :

.. time has already been wasted.

(&) Few B
] Much (D)
OR J 394r

hardy.

intransitive verb

trregular verb.

faster

tastly.

less

lesser,

worse

worst.

Many

All of these,

18 |
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EALe (D) rfl.#»} (c)
S GEE b L e
b (B EATY
tU# o) L':;J;.} ()

L2 P s

=/ (B) UEF (A

./ (D) UES (€)
LB S T ea

LT (B LT (4

=7 (D) AT o
' Ve te by boy SE 0T ipr | —IUt 65
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LR AS G
= (B) S
URB (D) Jw (©)

_Leddd e

U (B) I (A)
=k (D) uzd (0
9,5 Ve in bl Fe =i

Saw=i® (B Solaisie  (A)
S D) Sfed (0
e p B S i AL Lk

. (B) 2 (@A)

4 (D) 5 (C)

i Hq"’lqu_.-"-'s' E—lﬂ,ﬁ:p L_,!'_.JLtL'r:".'LJJ:.'L...:g kJﬁﬂkW!u

(Peculiarty word) Lﬁ"” _7  (B) (Interjection word) J41 R 1% T
St (D) ‘(Preposition word) ki (C)

totif b itntuifny

Wl a2kl (B) Ji rali (A

Sl r2li (D) K al (@)
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¢ U Yeie §% ol unnTa

«b (B) & ow
£ (D) 5 (Q)
fup o F e UL UF

9 (B) 8 (A

4 (D) 2 (C)

S bl Lk 5L

ST (B) JHTEI (a)
Lr#5d (D) =i ()

—I_.J_':'JE fj"'i “t}'f.-,-h"”
L dre (B) b s ()
L/ oues (D) EEL6 ()

U etz e fn

e (B) =1 (A
4277 (D) AT ()
tup el LU 2 P
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et et gl A
Go6 (B) SF (A
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o
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al1.

92.

93,

SPECIAL INSTRUCTION FOR SECTION I

In Section-HI there are two sub-sections 111 (a) and [ (b), Section-NT {a) consists of
60 guestions in Mathematics and Science. Section-Il(b) consists of 60 questions in
Social Studies. The candidate has to answer either [1l{a) or IlI{b) as chosen by him /
her in his / her Application Form. For questions ol Section-111, candidate has to mark
all the answers in the OMR Answer Sheet from 91 to 150.

- % el fade e
W - 10 AR I (@) T 1 (b)) ¥ 1S - (11 (a)  ufe A faee ¥ 60 W E
- I (b) W Wi werE o B0 W ¥ | onamd| w1 fedt wF - 10 (a) wuar
NI (b) 1 3% 194 e 9 % S0 F00 ¢ 1 97 - [10% g o aaedl 5 v T oMR
TWEH 01 § 150 us fefga s &
SECTION — II(a) / YT - III{a)
MATHS AND SCIENCE / WA ¥ fggme
There are 60 questions In all in this Section. All gquestions are compulsory,
mym A FA gov § | vt um e £

The bright, attractive part of a flower is

(&)  corolla (Bl sepals
C - petals (D} pedicel.
FH & THF o0 a9 ST o ¥

(A e B =g T|
c == (DL~T9 37 |
Cholera is caused by

(%)  bacteria B) wviruas

C] insect D) toodn.
wien £

() i g (B) ¥\ gm
([C) = am (D] =IfR o |
Eggs are a rich source of

i) fAbres (B] protein
[C) carbohydrate ) fat.

g 3om wm ¥

W gt & B W
(C) wrefemd= @ (D) =& & &
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84.

= 1

96.

97.

a8,

99,

Jute fibre is obtained from wtﬁch part of the plant ?
Eg; Leal m\) Flower
Stem (D) Hoot,

W8 & faaw wm @ 92 dg war W & 2

Ay B) F=

<y T (o) ==

Rice a.n.d wheat can be termed as

() pulses B cereals

([C} wegetables (D} fruits.

=Ew awn i H e e e 2

(A ==iFwgd (B) 77l & ®9 o
C) wfeEfF=gd (D) et & =0 H
Flants that produce their own food are called

(A)  autotrophs (B) heterotrophs
[(C) saprophytes (D} parasites,
T S STen wn = gy #, weem &

) =EETR B) TETE

(C) HHrwEEE (D) g
Flowering plants that bear flowers, fruits and seeds are called
) cryptogams (B) ferns

IC) gymnosperms (D) angiosperms.
HE, HE TS O F1 9 e ge 9 weend € '

(A  fEErtem |  wd

(C) foreiregd D) e
Which of the following is a dicotyledon 7

[lg Grass (B) Mango

Maize
(D} All of these,

=1 4 & festorgst s & 2

) T™ B) =A™

) == (D) 798 & wdt
Single-celled animals are classified as

) arthropods (B] mammals

() protozoans D] molluscs.
TS A Wi w7 e fEm e &

(a) - iz F T A B) wfHEl ey

© HErsieT & vy i (D) Hreres % ' H |
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100.

101.

102,

103.

104,

105.

The roots of a banyan tree are

A climbing roots (=) stilt roots

([C) breathing roots () adventitious roots.
ETiE i i

(A s T B) wA=EwY WA

C) ¥=97 7 (D) AgE=nf= g=1 |
Water that is absclutely pure and free from any impurity Is known as
() distilled water (B) mineral water
IC} spring water i hoiled water,
ST9fE | 9ol 9 & T 909 L I F1 FE T

(a) =A@ | B) @EHEs 9=

(C) TN W WA (D) == g2 9E |
By which method is a solute obtained from a solution ?

(&) Sedimentation (B) Decantation
(C) Filtration (D) Evaporation.
forw ogfa g U= faermm A fadm v e s v ® 7

() JFEEA (B fHemEw

i) HHFA (D) Ers=

Which of the following is a water-borne disease ?

&) Diphtheria (B} Tetanus

(C) Hepatitis D Malaria.

wre Wt T # 7

(a)  Tewdfen B

) torgfem (D) HefEr
Constituents of quariz are silicon and

(A) oxygen (B) sulphur

C) nitrogen (D} hydrogen.
TS % sEraa € fafen @

(A)  HATRATAA B) TR

©  AEgE (D) EEFEE

The burning of which causes the most air pollution ?

1A) Coal (BY CNG

<y LPG (D) Hydrogen.
foreres SieT A wad o7fi 9Tg,. gEv g & ?

) wRrEE (B) CNG

© LPG (D) wEEeE |
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106.

Loy,

108,

109,

Which of the following substances is not miscible with water 7

() BTk (B]  Honey
) Alcohol O} Oil”
7= 4 A om0 vl o F e g 2
(YR B vmwe
([C] e D) &
Which is not a reversible change 7
(A} Water t-n water vapour (B] Melting of ron
(€}  Burming of kerosene ()] C‘i:;ndensatiun of water vapour.
=R i S-m T g 7
A W um (B) e = fymem
iC)  frmem w qw (D) om9 & HEe |
The molecules of which of the following substances contain the same kind of atons ?
1A) Uxygen B} Water
[C]  Carbon dioxdde (D) Sulphur dioxide.
=1 8 @ 5w we & aei F o o wwn T TER E 2
N st B =
(C)  =rA EsranE (D) HEH TEAFEES |
Which of the following formulae represents a molecule of ozone ?
M 0, B o,
© H,0, (D) None of these,
¥ & 2w siem = smawm ¢ 2
W o, B o,
© H,0, D) ¥ @ wr i
- Which of the following is an alloy ? -
A [ron Bl Gold
[C) Stainless steel (D) Copper.
FrAddsmfiamgt ?
A & B) |
Q) =T we D) dfan
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111. When a force of 1 N acts perpendicularly on an area of 1 m 2, the pressure is

A 1 joule (B} 1 pascal

) 1 watt (0} 1 farad.

| T 2 e sfreE T # w0 1 =R A % e =@ g

A (B) 1 U

c 19= oy 1%mE
112. How many ergs are there in 1 joule 7

N1 ll-” B 108

) 10*% o) 102

| A e B g 7

W 107 |\ 10°%

© 10* [ 107
113. A force applied to a machine Lo do mechanical work is called

(A load B) effort

IC) output D) efficiency.

fiy e e AT w0 T W e Heend &

() Wi (B} waH

) Frim (D) TEE
114. An example of natural magnet Is

(&) iron B steel

iC}) lodestone (D) all of these.

wrFfas e o I ¥

@) = B ==

(C) T (D) T A A
115. The ahility to do work 13 called

8} power (B) encrgy

[C) mass (D}  heat.

1 WA T T FHgen ¢

(&) wfE | S

& T D) T
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116.

118,

120,

The Sl unit of area is

&) mm?

() m?2
€l W S1 3FE &
W oy

ic =2

. What does angstrom measure ?

&)  Quantity of Hquid
{C] Length of cables
dre = A ¥ 7

W 7= = A

[C) fawt =1 wemd

Al frictional force
(C) gravitational force

(B)

(1%}

18]

(B)
()

(B)
()

- & comb attracis small pieces of paper due to

(B)
(D}

cm 2

km

Hat 2
Termit 2.

Length of light waves
Speed of ships.

WO WiT w1 ey
wETAT = =

magnetic force

electrostatic force.

T FH FFR F DR gHS W AHAT F 1 wH #

(A}  wiwm wfma e

(C) TEEE =

Force can be measured using a
() spring balance

IC) caloritneter

oW HI AT W WEW &

( feim gen % w@m g

) =T gm-

Friction can be increased by
(A applying oil

([C) rough surfaces

wHU Y FEE = Al

() TS T W

IC] et wael gm

(B}
()

B)
D)

(B)
()

B)
(

(B}

feery Fegfa @e |

tHermometer

none of these,
g g
=H | =g Tl |

moizture on the surfaces

all of these.

el 9T 7= gE
=H 0 A
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121.

122,

123.

124,

125.

The surface area of a cube is 96 cm *. What is the length of its side 7

A 4cm B 5Hon

C)] Gcm D Bcm.
el v T gE el 96 B 2 R | gEH = F w7
(@A) 4dm B) 5 H4H
(L (o 8FHA
The degree of the polynomial 4x? - 3x% 4+ 8x% 18

w6 B 5

c 3 m 2.

qET 4x? - 8x7 + Bx 57 Ffz Tl

w6 B 5

c 2 oy 2.

A straight line intersecting a circle at two points 13 a

(A) tangent (B) secant
() chord (0} ‘segment,
Mwﬁﬁﬁqﬁwqﬁﬂawﬁﬁiﬁ?mmt

W e B FF

€y == ) T I

Mset A=1{2 3 4 &, 6} and set B=1{ 3.5, 7. 9 } then how many clements are there
nANB?

w o B 1

c 2 o 3.

i, w=A A={2 3 4.5 6lmme="B={35 7.0 )d A N B fem s A7
w0 B 1

2 o 3.

The number of elements in a set is called

#  ordinal number (B natural number
i} couning number D] cardinal number.
et T 1 i W wEn FE §

(A A W (B) WS He

(C) TR HE (D) VS HE |
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126.

127.

128,

129,

130,

An article marked at Rs. 8,000 is sold for Rs. 7.200. What is the discount
percentage 7

B 10% B) B%

) 12% (D) 11-1%.

foreft =g 0 s 77 8,000 %0 & fd 7,200 % AN I 1z W AN E
& 10% B 8%

C 12% D) 11-1%.

Whalt is the complementary angle of 55° %

A 180° B 80

cy 125 D) 35

55° %1 I I 7 g 7

A 180" B 90

cy 125 [ as%

Find the degrees in an angle which is 0-2 time a straight line angle.

A 20 B a3z

) 38° D) 45",

Tl sfteta & &1 0-2 T F fE an w2

W 20° B 32"

© 38 D) 45

The letter ‘D" has ................. lines of symmetry.

i one B two

[C) three (D}  none of thege,

A D H fa o T ¥ 7

B = B

[ = M} = A FE =

A closed wooden box measures externally 20 cm long, 14 em wide and 9 cm high. If

the thickness of the wood is 1 cm, find the weight of the box if 1 cm? of wood
welghs 0-5 g

) 272g Bl 496 g

) 504 g D) 534 g

TF H% THS1 & G &1 AjAfE wEw 0 6, wirerd 14 T A e 0 A ¥ ) oft et w5
A 1w T 1 S ] W we 0.5 W ), @ ae w5 99 s a0

& 2729w (B) 496 TR

(C) 5047H (D] 5347W |
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131.

132,

133.

134.

135.

What s the square root of 28 7

in B4 B 48

cy a2 o L6

simwi@FnE 7

(4} B4 |\ 48

c) 32 D) 16.

A field 1s 80 m in length and 60 m in width. The ratio between its width and length is
W 3:2 | 2:4

c) 4-:3 Dy 2:3.

T% e F i 80w o siterd 60w & 1 e aw weand & i w1 agTE A
A 3:2 B 3:4

[ 4:3 o 2:3

The angles of a trlangle are in the ratio 3 : 7 : 8. Which is the greatest angle 7
w60 @ 70

[y 75 () 80

et Py Fw 3 7: 8K A E T I A Y ?

N el Bl 70

i) 75° (D) 80

In a class of 50 students, 40% are girls. How many boys are there 7

& 20 B 10

Iy 25 oy 30.

50 frenfedi %t ww % § 409 wafedl € | ¥ e EE € 7

w20 B 10

) 25 (D) 30.

Express as a decimal :

Rs. 37-25 + Rs, 230 1 [Rs. 30-45 - Rs, 1-20]

Rs. 1267 - Rs. 476 _ 10| Rs. 9-08 - Rs. 6-33

(A} Rs. 4:10 (Bl Rs. 375
) Rs:. 530 (O] Rs. 5-80.
wyreE T = i

37:26%0 +2:30%0 _ -1_.[ 30.45%° - 120 }
12.67%F0 — 4-T6Fo 0| 9.58%0 - 6:33 %0

(A 410%e B) 375%e
‘) 5-30%e D) 580% |
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136. Fill in the blank :

0-00187 % covvevvvnnns = 18-7.

A 100 (B) 1000
< 10000 D) 100000,
e Tar =1 gf *ifag ¢

0-00187 ¥ cvvveerenne. = 18-7.

in) 100 (B} 1000
() 10000 D} 100000.

137. Subtract giving the answer in kg.
4317 g from 23 kg

A 19-683 kg (B] 18-383 kg

C)  19-383 ke D) 18683 kg

et foem | 39T =it

23 fFm # 431719

A 19-683 fFm (B) 18-383 fFm

() 19-383fFm D) 18-683 f&Fm
138. A 1-B5 m long pole is divided into 5 equal parts. What is the length of ea-:hpart ?

(&) 085m Bl 097 m

() 095 m ] 092 m.

TH 4-85 W T4 @Y 5w v F Swli G s § ) w9 um St HeE o w2

(v 0-85H (B) 0.974

) 0.95%H D)  0.92T |
139. What is the value of 2x3 if x=5 7

{a) 225 B} 250

C) 125 (D) 150.

2xEH AR FNEM AL x =5 7

(A 228 (B 250

[y 125 D] 150.
140. What is the square of 0-02 7

A 0-0004 Bl 0-004

cy 004 D] 04,

oozmEtF=m § 7 ]

A 0-0004 B 0004

<y 004 () 0-4,
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1a1.

14Z,

143.

1443,

giﬁ AAD weiiiieriaraa e frACtion,
ia)  proper {B)  improper
C) mixed (M  unlike.
W 3w B e
i fax (D) Tawta |
A post has one-fifth of Its length in the mud, one half in the water and the rest of it
10 ft in length is out of the water. What is the whole length of the post ?
[A) 266 in (B 33ft4in
[y 36 ft (D) 37 ft9in.
Eﬂiﬂfmﬁﬁﬁiﬁlﬁﬂﬂ%mﬁ,mﬁﬁﬂmﬁ 10 ¥tz = wal url & A & ) g
e E 7
() 26%k 639 (B) 33%Wk 4fw
i) 36WR D) 387wz 9
Choose the option that is arranged in descending order :
329 5 5 9 23
W 557612 B 13 16-3 a
3 9 2 5 9 5 3 2
© 31631z D) 16-13'2'3
#AE FH F fawew g
32 9 5 5 9 23
W 4518012 B 151633
39 2 5 9 5 3 2
© 416 3 12 @ {g-13-4-3
What ig the least fraction which when subtracted fmﬁig —Sg +1 221
result a whole number ?
1 1
W 3 B &
1 1
e o & ol 43324 1128w s i ofom 2w 2
1 1
w5 B g
1 1
S o 3.

will make the
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145%. Simplify the following :

FRINER)

1

W g B B

(C) 10 12,

= = ma =ifan

1 1% ({1 1
(130
1

W 5 B 6

(C) 10 My 12,
146. How many prime numbers are less than 25 7

LV E) 7

cr 8 (9,

25§ FH HAW HEA T E 7

W B B} 7

i« 8 o 9.
147, The largest number that divides 99, 132 and 165 without a remainder is

W 3 ' B . 11

(C) 15 33

fon = foms & 99, 13299 165 =1 Wi ramen gEow g

a3 | 11

) 15 _ D) 33
148, What i= the HCF of 24, 12, 38 and 60 7

&) 4 | &

[{&] 12 D)y 24.

24, 12. 3679 BO T HoHo FME ?

& a |\ 6

ey 12 oy 24,

149. Three search lights flash at intervals of 20 s, 30 = and 45 =. The time between two
simulianeous flashes is

Al 58 Bl 90s
i) 120s (D 180 s. _
3EEARS 209, 0N AM A5 HF INA WM ER T 1Ty i F i manm ¢
n 5™ (B} 90¥
() 1209 (D) 1809 |
150. What is the LCM of 10, 15 and 20 ?
) 60 B} 40
(€ 30 (o) 20
10, 1595 20 % Tolo TN E 7
A B0 Bl 40
[ 20 (o] 20.

OR / #A4gaT
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91.

82,

93.

94,

SECTION - III[(b) / ¥ - III(b)
SOCIAL STUDIES / RIS 3e5a
There are 60 questions in all in this Section. All questions are compulsory.
= A H e 60 W £ | wdft wE wfEe £

King Harshavardhana's capital was at

Ay Prayag (B)] Kannauj

(C]  Ufjain D) -Pata]iputra.
T wefadE w e bt

@ T B) FH=

c) I=E (D) arefaga
Kallash temple at Ellora was built by the

i  Chalukyas (B) Cholas

{C) Pallavas (I Rashtrakutas.
TEA F1 Ferw G@fer w fFemm fFm o o

@ S g (B) e 7

(C) Tl g (D) TEFET A |
How many wings does a village panchayat have ?

W 1 B 2

<y 3 o 4.

o e o i E 7

w1 m 2

c 3 D) 4.

The head of a Municipal Committee is known as

(a) Councillor (B) Mayor
(C) Collector (D) Chairperson.
TR wHE w1 WA e #

(n) g B) HI
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95. The village court is called
(A)  Gram Sabha
(C] Gram Panchayat
Y AT wEend ¥
) TH T
[C) W TEEm
96. How many states does India have 7

A 29
[c 27
v # Tl W den feet 7
w29
c 27

97. Who founded the Arya Samaj 7
) Swami Dayanand
[C) Swami Vivekananda
A wETA 1wl e fem e ?
@ e T
() @ FawEs

(B)
(D)

(B)
(o

(B]
(D}

B]
(D)

B)
(o)

(B)
(D)

Nyayva Panchayat
Gram Adalat,

1 =R
UM Foled |

28
26.

28
26.

Shankaracharya
Raja Rammohan Ray.
HETIEIL]

T T T

98, Omn whose advice is the State Council of Ministers appointed ?

(A) Governor

(C}  President

ras warg 1 e St =1 Fegfe gt & 2

(A) =T
) wEdlE

(B)
(D)

(B)

(D)

99. Who was the founder of the Mauryan empire ?

&) Ashoka

(C) Chandragupta
w4 arares @ deraE w2 9 ?

(A  F
€y ==m

)
(o)

B)
(D)

Prime Minister
Vice-President.

LI E
FEwafa |

Bindusara
Pushyamitra.

qefas |

37 |



UPTET(Teacher Eligibility Test) Solved Question Paper [1- 2011

100.

101.

102.

103.

104,

Fa Hien visiled India during-the reign of

(Y] Harshavardhana (B)] Ashoka

(C) Chandragupta Il () none of them.
A o WA § SR A W 2N e 7

() |) WS

(C) == Tt (D) o A= ==
Which stale was the first to establish the Panchayatl Raj Institutions ?
(4}  Rajasthan (B)] Maharashtra
IC)] Bihar (D) Uttar Pradesh.
e T sl 1 FHm e e T Y e

(A) AR B) HEME

) fawm (D) TR WT |

Constitutional Governmen! means

A} Govt, according to the ternmns of the constitution
Bl Zovi. based on the rule of law

(C) Democratic govt.

(D)  all of these,

Gt W w1 s §

(&) wfaur =t sl % SgEn 9 (B) WA & AR RN
(C} SRS ' (D) T E R |
"Panchsheel" was signed between

1Al Nehru and Chou En-lai B} Nehru and Mandela
(C) Gandhi and Chou En-lai (D) Gandhi and Mandela.
'gayitE’ W REET g om _
LU R R i B *EE ¥R WEen & 9=
) et a7 & wA-eE & A (D) il o HEe % W=

When was the Constitution of India finally signed by the members of the Constituent
Assembly ? '

{A)  26th November, 1849 (B) 24th January, 1950
[C) 26th January. 1950 () 28th February, 1950,
Tl Ty & el 5 9T F dfavm woesm i sm e e o 7

(A) 26 7EaT, 1949 (Bl 24 ¥W =i, 1950

[C) 26 99Ed, 1950 (D) 28 F=d, 1950,
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105, Wheo was the head of the Constituent Assembly ?

(A) B.R. Amnbedkar B) B.M. Rao
(C) J.L. Mehru () V. Patel.
HfayE 9o =1 WY S a2
Ay e e FEHIHT (B) =feUde T
IC) Foude FHH (D) o g2 |
106. The ancient name of Assam is
A) Pawasa B) i{ammp
([C) Pippalivan D) Ramgram.
TEH W W= TH R
(&) wTE B) HrEwY
(C) Towawes (D) T |
107. Dilwara temples are examples of
[A) Jain architecture =) Buddhist architecture
(C)  Mughal architecture (D) Sultanate architecture.
TaerarsT Hfar Iamw ¥
(&) S e (B) iz FOa %
(C) T TR R (D) Hoaad =9 & |
108. Chanakya was also known as
(A) Bhattasvamin (B] Rajsekhara
[C)  Vishnugupta (D) Visakhadatta
= &1 e A\ | W e s & 2
(A)  vEEETH (B) Tr=¥ER
) faerme (D) e |
109, Who is NOT associated with medicine ?
[A) Dhanvantari B) Bhaskaracharya
() Charaka (D) Susruta.
siaf | fro sew T & 7
(A)  E=aEr B)  wrERTErE
() ==k (D) A
110. The President of India can be removed from his/her office by the

(A) Prime Minister (B)
iC)  Chief Election Commissioner (™
AR W TRt w IEd wafom § gern w1 wwa ¥

(A WEEEE B (B
(L B £ e i = ) 2 Tl L (D)

Supreme Court
Parliament.

FEEUH ST B
qHE BT |
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111. The first nuclear test in India took place in 1947. What was il called ?

Tornado
Smiling Buddha.

e
T B AgE |

Bhasa

Asvaghosha,

uTE A
HATHEE A |

A Shaletd 1 (B)
(C) Chagai i)
RS # TEN AOiae Wi 1947 8 gon o | T fRe am | s e # 7
A w1 B)
(o I 4 (D)
112, .'Sha.kuntalam' was written by

{A) Kalldas (B)
(€} Kamban (o)
‘oA TEE 4

) e A (B)
(C) W R (D)

113. In the Third Battle of Panipat. the Marathas were defeated by

A} Mughals B

{C) English (o)

artga =t fiedt wed O gust # wofsa e o

) e (B)

[C) A (D)
114. Who said "Swaraj is my birthright" ?

A . Bal Gangadhar Tilak (B)

[C) Dadabhai Nacroji (D)

fore =g e T wtag wfaer' T & 2

A = e frer (B)

(€ =mETE AR (D)
115. Rana Sanga is related to

{A) Malwa (B)

(C) Mewar (D)

Tron =i et #

{A) HeE # B)

© wEEE [18)

Afghans
Sikhs.

HFEN
Tt A

Netaji Subhas Chandra Bose
Lala Lajpat Rai.

HaTEl G == \H
I A= T

Ehajuraho
Mandu,

LCE L IRe]
HUg H |
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116. Kanishka started the Shaka era in

A AD B2 B] aAD78
(IC) ADB2 (D) AD 88
I HA Bl FEAT wiasR  Hi o
A 62%F B) 78¥c
) 828 ¥ D), B8de® |
117, Who was the first British Governor-General of India ?
(4) Dalhousie (B) Hastings
Q) Clive (D) Canning.
urE o wyH fafew =T SE w8 7
W TEETst B e
€)= (D) &
118. The British invasion of which area led to the Sepoy Mutiny ?
A Oudh {(B) Bengal
iC)  Mysore () Delhi,
fore & & sits A ¥ FREm faoE e gen e 2
&) ey B =
() g (D) fawedt |
119. On independence India became a dominion. In which wvear did the dominion status
end ?
(A 1947 Bl 1948
(C) 1949 (D) 1950,
TR B AN T Traree 9 o | frame s e fas e me g g
A 1947H B) 1948%
{C) 19494 (D) 195079 |
120. Who was the last Governor-General of independent India ?
(Al Mountbatten B} C. Rajagopalachari
(C) Sardar Patel . (D)  Jawaharlal Nehiw.
T qEa i T e W @ 2
(A} TETEEE B) wte ToETER

[C) ¥ER e D) TEEEE e |
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121. Who was the writer of Mahabharata 2

(&) Kalidas
() Tulsidas
TEYEA & oEE i 9 7
() I
(€) T
122. Who built the Red Fort ?
(A) Sher Shah
(IC) Akbar
=\ fen =1 T feea e w7
() AR
C] HAHEL

123. Who was the first President of India ?
[4) Dr. Rajendra Prasad
{C) Zakir Hussain
A W WY trsqﬁaﬂ-—r & ?
() Sio T TER
() wrfET g9

124. In whose memory was the Taj Mahal built 7

(A} Noor Jehan

(C) MuﬁmMaha!

ArermEe o Fmtw fras e # & = @ 2
W T

(C) HErE TE

B)
()

(B)
(D)

(B

D)

(B)
()

B)
(D)

(B)
(D)

B)
)

(B)
(D)

Vedavvas
Kautilya.

Hifeea |

Humaiyun

Shah Jahan.

e

kS
qmEE |

“Dr. 5. Radhakrishnan

Jawaharlal Nehru.

ﬁul‘_‘:ﬂ'ut{w
FAETET EE |

Shah Jahan.

R

six

TMeAel |

125. Which religion has 24 great teachers called Tirthankaras ?

(A Hinduism

{C) Jainism

fopm wd ¥ diefeEy % W 24 Wew A € 7
W feg e

(9

B
m

(B}
(D)

Sikhism
Buddhism.

Trea v
ﬂ’m_mfl
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126.

127

128,

129.

130.

Gautam Buddha preached his first sermon at

(A} Prayag (B)
[C) .Gaya (D)
T g TEen gea fad 4

Ay TEMH B)
© T ()
Who was the last Mauryan ruler ?

&) Bindusara (B)
(C) Devavarman (D)
Ffoam A wmee Wi = ?

() fagEw (=)
(C) EF=ada (D)
Ancient Rome became a republic in

() 6th century BC B)
(C)  lst century AD (D)
WHIA i w3 7o g ?

(A o wE S o (B)
(C) 1 &\t dEet o
The script of the Indus Valley Civilization is

A undeciphered (B]
[C) Persian )
fory Wt waman =1 fafy #

W e (B)
{C}  wrEl (D)
The Harappans did not know the use of

(Al Gold (B}
(C) Iron (D)
TEW 3 TR wE T e s 4

(&) = e (B)

() e = (D)

Lumbini
Sarnath.

et &

o H oo

Chandragupta Maurya
Brihadratha.

=AW
EECl

3rd century BC
2nd century AD.

drad wel foet o=
2 3 [et et

Sanslerit
Dravidian,

HEF
wfas |

Silver

Bronze,

=fet =

HIE FT |
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1321.

132,

133.

134,

135.

Which animal is the attraction in Kaziranga National Park, Assam ?

{a) Rhinoceros (B} Lion

([C} Tiger (D) Bear.

sy 3 TSI e O W ST i Wl § 7

@ o= |

() == (D) %= |

Once a French colcmy, which place is the home of Aurobindo Ashram ?
(A Chennai _l'E-] Andamans

(C) Pondicherry (D) Goa.

= T W TR T S SatE @, a7e st anEW W Hiam ¥, R R ?
) e (B) A

(€ s (D) T |

Bombay High refers to i

(A) offshore oil fleld (B] onshore oil field
{C} offshore gas field (D) onshore gas field.
T T e

A) TR T A B T e &= °

() wmme i H= A (D) TeEd TR
Which of the following became the 26th State of India ?

{A) Uttaranchal B) Jharkhand

) Goa (D) Chhattisgarh.
v & wedeal o P A A FE R 7

@) I @ S

(C (D) wHETE |

which of the following rivers does not originate in India ?

(Al Kaveri B Narmada

(C) Brahmaputra () Ganga.

et & T A o ISR U W TRl ® 7

&)  wTE B T

(C) wErgA (D) T
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136.

137.

135.

139.

140,

Which is India's longest river 7

(A Godavari (B) Krishna

<) Mahanadi (2} Ganga.

WA I gEeE TE wmE ?

Ay  TirEEE B) Fom

() FEETEEt () 7m0

Whalt is the time difference between GMT and [ST 7

(4) 4 hrs 30 min (B) 5 hrs 30 min
() 6 hrs (I 6 hrs 30 min.
TAfEE Wisg 9HE a9 9 E '99E & e waEaae fean & 2

{A) a2z 30 A= (B) 5= 30 ==
© 64 (D) 6 30THF2
Which of the following geographical features is not found in India 7
A) Lagoon (B) Glacier

(C) lceberg (I} Desert.

= o | F9 - syrpfa wea | 76T o et & 7

() HER A (\|) fewa<t

) femds (D) W& |

How many coceans touch the Indian mainland ?

A 0 (B} 1

w 2 o) 3.

W g g | RS wermrr faea & 27

(A) O (E) 1

w =2 (D) 3.

In which state is Silent Valley located 7

(A} . Maharashtra (I3} Kerala

() Uttarakhand (D} Kamataka,
e St fFa o W frem & 7

(A) HETE B T

(] SEEvE (D) == |
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141.

142.

143.

144.

145.

Banana and pineapples are matnly grown in the

(% Tropical region (B) Mediterranean region
{C) Mountains (D) Desert oases.
o o areE e I E

(a) i FieadE gt @) T aE 4

() qerE A d (D) wEIE H

Which is the group of languages spoken by the largest number of people in India ?
(&) Indo-Aryan (B) Dravidian

(C) Austro-Aslatic (D} Sino-Tibetan.
ﬁﬂﬁﬂfﬂ[ﬂﬂ;ﬁaﬂﬂﬁlaﬁmﬁm st =i we € 2

R s m s

() s -afafes oy - fr o

Which of the following are Lwin cities ?

(a) Delhi and Faridabad (B Mumbai and Pune

() Bangalore and Mysore (D) Hyderabad and Secunderabad.
frm A F g A E 2

() feeell Awn e @ g A

) s au A o) derEm A fRwaTEE |
The largest amount of saffron comes from

() Uttar Pradesh (B Jammu and Kashmir
(€} Kerala D} Assarm

i T H e fe &

) IW WA () -

€ F=EH (D) FEHE |

How many languages arc accepted in the Constitution of India ¥

) 15 B 20

22 o 28

s 3 e SR PR s wid § 2

B 15 B 20

cy 22 (D) 28
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146, The path of a planet around the sun Is called its

() revolution (Bl rotation
(C) orbit (D) spin.
T & ar s e sImE W Ar Feam § T

(&) OTGEET (B) wfrymo
() T (D) SHEFET |

147. The celestial body nearest to the earth is

1\ Sun (B) Moon
C) Venus (D] Proxima Centauri.
gt & o e wela foe &
W (B ==
) 9% () wifeEs Rt |
148. The egquator does not pass through
(Ad North America (B) South America
[C) Africa . () any of these continents.
e e e e
() I sRiEm A e B) =faf arifE § ° g
(c) HAEw F § (D) TH 4w T WEET |
149. Large salt water masses smaller than oceans are called
(A} lakes (B) islands
(C] seas (D) rivers.
TETERR & T TEa Sevita S ween §
() ' ® EW
() =M (D) =&
150. An area drained by a river and its tributaries is called a
o) basin (B] canal
)y dam D) strait.
et Y BT TEE WETAH! BRI wUAE A FEenn &
W e e (B) I

o B (D) FASHE |
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48 D]

INSTRUCTIONS [ f4mn
{ Read carefully and compiy /&7 4 7§ s T =)
IMPDORTANT /

Int Secton-il, candldate has to attempt the questions of Hindi languape compulzorly and any of the two languages - English or |
Urdu a3 per hils) her Applcation Form,

appy o, st w el v & et w b w A e o vl - i s vl A @ Tl Bw oW T AT AR W R
srpam w b

irs Section-0, it is compulsory to auempl the questions of Secuion [Hla) or Section (Ilb] ps selected sulbject in Application Form
-1 & e 2T R 99 (e 2R (k) % e e v B o ¢t faem m owe S I

The candidate st snsure that the Question Booklet Ko, R beers Tl corroctly at the prescribed place in the QMR Answer Sheel.
srerdfi giivan w1 e om #ite 7 Fifor oo w0 w qfé i @ s R

Rend complete insiructions carefully and fill the details in the OMR Answer Sheet and 51 No. 1 105 In the Queation Bockiet. If
you Fail we [l the details and aipn a8 instructed correctly, you will be pergonally responsible for the consequences. arising during
scanning of your OMR Answer Sheet. ) i

Tkt 3t EW i oMk Ttz T i A s e e gl (gEgE © T Al s e s # e wl T reme
= § A omR oz ® F S s ey el ol & e s e i |

OMR Answer Sheet Mo. should be writteh i the ﬂﬁt provided in the Question Baokl=t,

OMR ¥z HE W g o e wm o el wel ate

The Question Dooklel comprises 36 pages hamng 150 questions. After being instrucied (o open the Hooklet enly, the candidates will
open the Question Booklet scal, Check whether the Booklet comaing 150 questions swarting, frem Page Na. 2 w46,

o R § as T W 150 W §1 T Frig ot & aven @ e g oA e 3 g R 8 oo gfes 2
150 AF £ ¥l 76 O W 2 W TR R 46 6 K

All questiviis mh:' MCQ M'chau;:p-ﬂnnﬁ type. There i only one correct answer to each question camying ene
mark, There will be 5o segutive AnEWErs.

e e e & 1w e 1 T e 1 e e i i ) e e i e s o e

In &y event of any mistake in any question/s, candidates will not be penalmed. However no corrections will be made in

i .

%‘E#ﬁ% ; ok T ) Fandt = e i gt | e ot e F me o Tl R o i W owm
Rowgh work, if any, may be done in the Question Booklet eply m the space provided at the end of the Booklet, Do not tear it off
from the Question Booklet. No additional paper shall be, icdgd. . :

o STt 3 T W A A T mﬁmeﬁﬂ% rﬁ%ﬁmw&uﬁmm wilfrer & TRy A FE F
Use of Log tables, Calewlator, Skde rule, Mobile phone, Pager. DIgital digry or any other electronic itemfmstrument etc, is not
allowed. Thelr use wall result in disquolifcation.

i | T FA, BAEA B, 9, e s W B A wew o gt e o 3 W e At b e
T T e e S e o e £ '

OME Answer Sheet in triplicate will be provided separately aling with the Question Beaklet,

T W o T oMR T, S Y F W A W e

After Qruestion Boaklet i isaued to the candidate, the candidane gt fill in all the entries in the Question Booklet and OMR,
Answer Sheet. After the Question Baokler seal is opened by the idate, hejshe should ensure that any page/ queation i nal
russing | et printed J tomn J repeated. In case you find any e Mgl anywhere in the Question Booklet, immediately inform the
Invigilater and get it replaced by the Invigilator, d i

ST W Fafy B Al F IA. A wR TR ol oMR TR v O At ik o) off = ma e
mﬂammmmnﬁhmmﬁamwhﬁmgmﬁh et & /WA e A A E
I TART T i e T A F W 7 O e o vt i o] g A s # s e e

Write your Question Bookles No., Rell No., OMR Answer Sheet No., Question Booklit Code, Name and put your Signature in the
space provided in the Question Booklel 4 well as in the OMR Anawer Sheet. .
mlﬁmﬁnnaﬂzwﬁmﬁnwﬂwmﬁmﬁm,ﬁmw.mmm.mﬁm T3, T ¥ W R F

With ench question you will find 4 possible answers marked Dy the letfers A, B,.C & D. Read each question carefully and find
put whish afawer, aotording to you iz correct. ndicate your answer by darkening the appropriats circle completely in the DME
Angwer Sheet corresponding to the question, For marking answers uge Black balipoint pen only.

W TE & I AR 9 AL B, o F 0 by e w e gl o W wEl e o e o SR I omR T § Aem
WIS I S e e e E T A 7w s ek & D e e A R o i W

Correct method ! |- coppect | wft Wrong method | | wroNG § e WRONG / TFR WRONG | T WRONG | TIF

i i PQOE|I™™: I REpod |Feo0O| |OGOO| | 0CeD

GMR Answer Sheed is designed for computer evaluation. I you do not fllew the instructions given above and shown in the
OMR Anzwer Sheet, it may make evaluation by compater diftcult. Any resultant bss to the candidate on the abowe account
shall be of thi candidate anly. & W e sz & feit ma kit 5w o

GMR TiZ T TEEE B T L uT IF T oMR ¥ U W A, A WG 5
HFRTET 5 AR W gir R T e it faeed ol w W

Mo candedute shousd leave the Examination Hall before the final bell, Adter completion of the examination the candidate should
hand over the whole sci of OMR Answer Sheet along with the Question Baoklet 1o the Invigikator. The Invigilator will kand
over the last part of GMRE Answer Shost along with the Guestion Booklet to the candidate while loaving the Examinatien

ull, :
E}twﬂmaﬁ'ﬂnﬁﬁmaﬂ T W A A ST ST e T % AR A e qRe Sied oMR T THE & w AT
di w1 wig %) dew T _!ﬂﬂonmmw:iﬂniﬂ-ﬁﬂﬁ‘ﬂﬁﬂﬂﬂﬁ*ﬂﬂ“ﬁl
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